
No. Plan Article Qty

1 P00094415(L)
P00094419(R)

2694954
2694854

1
1

2
*

D22
D25

1907511
1906616

1
1

3 XP02043 2993671 1
4 Cup D22 1990648 1
5 Washer M6 2994414 1
6 M6x8 ISO7380 2996034 1
7 M4 DIN 985 Black 2994901 1
8 M4x12 DIN 7984 1907582 1
9 M6 DIN 985 2994063 2

10 M6x35 DIN7984 2994654 2

* When there is no B78.

NOTICE: THE INFORMATION CONTAINED ON THIS DRAWING IS
PROPRIETARY TO VERMEIREN GROUP AND SHALL NOT BE DISCLOSED IN
WHOLE OR IN PART, OR USED FOR ANY DESIGN OR MANUFACTURE,
EXCEPT WHEN SUCH USER POSSESSES DIRECT WRITTEN AUTHORISATION
FROM VERMEIREN GROUP

---

B31 CRUTCH CARRIER V500 ACTIVE Plan No.
E00094427/A�1.1

Scale: 1:4 Drafted Verified Confirmed
Date 06/12/2024 06/12/2024 06/12/2024

Initials AS AZ AS
VERMEIREN

2

2

1

4
4

5

6

9
10

A

37

8

A (1:2)

2


